
Chapter 9 Section 9.3 Quadratic Inequalities in Two Variables Linear and Quadratic  
Inequalities 

Assignment p. 496 # 1 – 8  Quiz Next Day! 

 

Name: _____________________________     Date: _________________________ 

Learning Goal 9.2 Solving quadratic inequalities. 

 

Example Graph 𝑦 < −2(𝑥 − 3)ଶ + 1 and 
determine whether the point (2, −4) is a 
solution to the inequality. 
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Chapter 9 Section 9.3 Quadratic Inequalities in Two Variables Linear and Quadratic  
Inequalities 

Assignment p. 496 # 1 – 8  Quiz Next Day! 

 

Example Graph 𝑦 ≥ 𝑥ଶ − 4𝑥 − 5. 
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